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(Y) sty | [PART A Grammar ads 1e

Question 51 is an incomplete sentence. Beneath the sentence you will see four words or

| - phrases marked (1), (2), (3) and (4). Choose the one word or phrase that best completes the .
sentence. Then mark yo,ur answer sheet. A Healthy Lifestyle
(Vocabulary
. . . Development.
51- We walked down the road without ... anybody, just talking about our great past days ...,er;ting)’
in the college. YV B #Y samio
1) looking at 2) to look at 3) looking up 4) to look up

PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each space. Then mark the correct
choice on your answer sheet.

If you want to live longer, you should quit your bad habits. ...(52)... is one of the very bad habits
that can be really dangerous to your health. Another bad habit is eating junk food, and it can increase
the ...(53)... of heart diseases such as heart attacks. Another bad eating habit is having lots of food
without doing any ...(54)... activities all day. Emotional health is another part of our health that can
help us live longer. We should be in kind ...(55)... with our friends and relatives so that we can be
happy and avoid sadness. ...(56)... research has shown that both physical and mental health work

together and we need to take care of both of them.

52- 1) Smoke 2) To smoking 3) Smoking 4) If smoke
53-1) risk 2) balance 3) addiction 4) stress

54- 1) key 2) general 3) physical 4) incorrect
55- 1) midday 2) creation 3) relationship 4) translator
56- 1) Recent 2) Slow 3) Unfortunate 4) Famous

PART C: Reading Comprehension

Directions: Read the following passage and answer the questions by choosing the best choice (1), (2), (3), or (4). Then mark the correct
choice on your answer sheet.

A famous writer who was visiting Japan was invited to give a lecture at a university to a large group
of students. As most of them could not comprehend spoken English, he had to have a translator.

During his lecture he told an amusing story which went on for rather a long time. At last he stopped
to let the translator translate it into Japanese, and was very surprised when the man did this in a few
seconds, after which all the students laughed loudly.

After the lecture, the writer thanked the translator for his good work and then said to him: “Now
please tell me how you translated that long story of mine into such a short Japanese one.”

“I didn’t tell the story at all.” The translator answered with a smile, I just said “the respectful
lecturer has just told a funny story. You will laugh, please.”

57- The lecturer got surprised since ... .

1) the translator translated his long story in a short one 2) his amusing story was not funny enough

3) the people did not take him seriously 4) the translator paid no attention to his story
58- The main idea of this passage is ... .

1) giving a lecture in Japan 2) universities in Japan

3) writers visiting Japan 4) translation of a lecture
59- The underlined word “this” refers to ... .

1) being surprised 2) translating the story

3) letting him translate 4) stopping the lecture

60- The underlined word “comprehend” is closest in meaning to ... .
1) understand 2) follow 3) relate 4) prevent
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